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Plot [['EcFgro’, 'EcFzExp', 'EcPltng’, 'ECdef’, 'EcParam’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['I",

“lopt'], ['T,

"Topt'], ['RH,
I

"RHopt’ ], [ ETcl’,

"optETcl’ ],

"LAI",

" optEtRate’ ]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-5 0
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P3-5

BriE) | GEBAK @) | ERE(EH/R | EREE (F/R) [ XS ERF

07:15 273 150.0 2.583 |Z=| {Ri&e07:15 Bzl (GREEZERSE)
07:50 273 150.0 2.583 | =| {Ri%e07:50 Bz (REAEZHE)
08:35 273 150.0 2.583 |Z=| {Ri%e08:35 Bz (KREAEZEHE)
09:25 273 150.0 2.583 |Z=| {Ri&e09:25 Bz (KREEZEHE)
10:05 273 150.0 2.583 FA| 1BRi%@10:05 B3h (KRAHEREE)
10:40 273 150.0 2.583 FA| 1B2i%@10:40 Bzh (KBRS
11:15 273 150.0 2.583 BA| FafAe11:15 Bz CGRAMEESE)
11:55 273 150.0 2.583 FA| FnHfe11:55 Bz (KAHEREE)
12:30 273 150.0 2.583 |/)\fly| FnHAe12:30 Bzh (RAEREE)
13:05 273 150. 0 2.583 |/\fi| FnHA@13:05 Bzh (RAEREE)
13:40 273 150.0 2.583 /i ThHR@13:40 Hzh CGRAERESE)
14:10 273 150. 0 2.583 |/\fu| FhHEA@14:10 Bzl (REAEZBE)
14:45 273 150.0 2.583 |/\fly| FnHAe14:45 Bzh (RAEREE)
15:20 273 150.0 2.583 [/\ii| Fi#He15:20 B3 (RAEDSE)
16:00 273 150. 0 2.583 |/\fu| FhHEA@16:00 B (KREAEZEHSE)
16:50 273 150.0 2.583 |/\fly| FnHAe16:50 Bzh (RAEREE)
2t 4368.0 (16)%) 2400. 0 EWGHIKEC: 2200, PH: 5.6

FRBIFE NS RFERPH 5.6, HTHERNASZIFESBIEPH, §F AR

#[EKECE (1760.0 vs 3887.0) d 5
HRENE Y S R IKEC 2200. 0
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P3-5

BfE) | GEBERTIC (7)) | ERE (EAH/#F) | EREE (B/R) | X8 R

05:30 283 150. 0 2.583 FA| 1BRi%@05:30 B3zh (KAIEREEE)
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13:50 283 150. 0 2.583 FH| 1RRi&@13:50 B (RS
14:30 283 150.0 2.583 FA| {Ri%@14:30 Bz (GRAEEE)
15:20 283 150.0 2.583 |Z=| {Ri&e15:20 B (REEZBE)
16:30 283 150. 0 2.583 [ =| 1RiRe16:30 Bz (KAFEHE)
21t 2547.0 (9%) 1350.0 3EHKEC: 2200, PH: 5.6

FRBIFE NS RFERPH 5.6, HTHERNASZIFESBIEPH, §F AR

#[EKECZE (1803. 0 vs 4093.0) H 5
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P3-5

BriE) | GEBAK @) | ERE(EH/R | EREE (F/R) [ XS SRR

07:05 283 150.0 2.583 5| {Ri%@07:05 Bz (FAERSE)
07:40 283 150.0 2.583 = RRiB007:40 Bz (RFAEEE)
08:50 283 150. 0 2.583 E  1BRi&e08:50 Bzl (RAERE)
09:40 283 150.0 2.583 5| {Ri%@09:40 Bz (FRAMERSE)
10:20 283 150.0 2.583 =l RRi8010:20 B (RFAEEE)
10:55 283 150.0 2.583 = {RRiB010:55 Bz (REAEEE)
11:25 283 150. 0 2.583 =l Rige11:25 Bz (REAEESE)
11:55 283 150.0 2.583 =l {Rige11:55 B3 (RAERSE)
12:25 283 150.0 2.583 =l RRiBe12:25 B (REAKESE)
13:00 283 150. 0 2.583 E| {Rig@13:00 B3h (RE{ERSE)
13:35 283 150.0 2.583 F BRige13:35 Bz (GRAERSE)
14:10 283 150.0 2.583 =l Rig014:10 Bz (REAKESE)
14:40 283 150. 0 2.583 E BRige14:40 Bz CGRAERESE)
15:15 283 150.0 2.583 F BRige15:15 Bz CGRAERESE)
15:55 283 150.0 2.583 = RRiBe15:55 B (REAEEE)
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